Lesson 11.3 Assignment Name:

1) A flagpole 4 meters tall casts a 6-meter shadow. At the same time of day, a nearby
building casts a 24-meter shadow. How tall is the building?

2) Five-foot-tall Melody casts an 84-inch shadow. How tall is her friend if, at the same time
of day, his shadow is 1 foot shorter than hers?

3) A 26-ft rope from the top of a flagpole reaches to the end of the flagpole’s 10-ft shadow.
How tall is the nearby football goalpost if, at the same moment, it has a shadow of 12.5
ft?

4) Private eye Samantha Diamond places a mirror on the ground between herself and an
apartment building and stands so that when she looks into the mirror, she sees into a
window. The mirror’s crosshairs are 1.22 meters from her feet and 7.32 meters from the
base of the building. Sam’s eye is 1.82 meters above the ground. How high is the
window?




5) Juanita, who is 1.82 meters tall, wants to find the height of a tree in her backyard. From
the tree’s base, she walks 12.20 meters along the tree’s shadow to a position where the
end of her shadow exactly overlaps the end of the tree’s shadow. She is now 6.10 meters
from the end of the shadows. How tall is the tree?

[+6.10 m=f+—— 1220 m ——|

6) While vacationing in Egypt, the Greek mathematician Thales calculated the height of the
Great Pyramid. According to legend, Thales placed a pole at the tip of the pyramid’s
shadow and used similar triangles to calculate its height. This involved some estimating
because he was unable to measure the distance from directly beneath the height of the
pyramid to the tip of the shadow. Calculate the height of the pyramid from the
information given in the diagram.
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